3(x-s)

\'“ : 3x— 15
J/13) Given f(x) = 2=, find the vertical asymptote(s) and justify using limits.

(%t SY %~ X= - -5

'\ 2 R,
XY= Jio

14) Given f(x) = % , find the horizontal asymptote(s) and ]ustlfy usm limits.

By v i = v?‘p +§JE» graup
gl 1 -GE)
Lt gk - &°(&F
Lim L) = 2(=) —3
X =09 6= NEYCD ANG

Evaluate Other Limits Involving Infinity (no calculator!):

15) 1i 24x _ S . 2 1_
) hmx—'l_L;l)_ /@ 16) lim,_ o+ x°— ==
=mall Lion &5 — Lim %

xX=20% X2
Sma i

o — X

17) lim,_ 4+ (‘—:—‘Eb 18) lim,,_,,+ é: g (9;3 @
j : “"“‘“ Smocl|

/("V! \X +> SMOLH

X_bl‘f’ =

X1+ XD 3
srmall

I\




